1% 94.9.27
2 %= 108.04.10

EFRAEGHLY & FRIERE CERRRP

T T — - e
FOLEEEE UK |G o p R RE s AN PR -
e Edp T A F T A X -
e R ENTE SRS 3 s £ S Al
Fi FEFRIGECR iR T
. & F R AR Far

P EEAPM AT EF IR
BXGRLLER
=N ff(gﬁj%;}gjﬂ w2 HEE AR 4
HEGHEEGTERY = F
[z o
A N e
VRt AR ERCE EFIRF
HR T
ARV £ FP e | EFRTHEAULFBMEARY| =
i B LR %%%’1%& -
: MRS ME ) X Al
£ ti%%%.\ B R A2 wwi- -
- ]

(Fp) 5§ e 04— Az 3P -1,/9




1% 94.9.27
2 %= 108.04.10

EPRAEGHL Y& FRIGERE T ERERD
A T N - —
- T3 g L] & AT R N s E =
;g it egil LA AP E o A fRiT iR o
# 1 B EI\%‘*‘"’%WJ»QF&' EE
fe %*ipkmAazﬁm%
~ AMTANT T
?Jw&iaﬁm_fuﬁﬁxlw
FoE A B ipdo ¥ w AR
EErE N
PG G R B RE
1§fr'f ’4)27;‘3’][( _:_PE}!,D
J‘IF?%%HM;QEZ <
%
2§ Fi:@ﬂa‘a% LF] o TR
Bt & T{J}d— oLk i A E
Fezb & Frdh # LTy M
KA RLERY EFRRK
iz, "{pﬁ"*?sir{:g;}%gl\ﬁi, i
N L S A i S
B AL ARARAE 2 fF
2 AGFIIN o
2 K foik sk i A A *
- - a%-é%ﬁé?%iﬁﬁiv‘ SEE f;
&= oA 2 i"’:ir{%f,u ™
B e EERE 3R
é%%£\ﬂ%£\%%
FRAIGE ~ PR~ 8 &
AFEEERELF A
71;3“;’1‘#& o
=~ Rw BT 4g T

(Fp) 5§ e 04—iAZ 3P -2,/9




1% 94.9.27
2 %= 108.04.10

EFRAEBRLF&FRICGERE LR

e AT T - -
Fe é - j;_ g IF;,‘ # ,5}?[5 3 2 o :—E\I
Bk [k S m R o iawa] =
¥ 80 9 3 I
4 EFRE AR E0 - § N

A A ARG REFE
) FEEHZ HED 2 A%
ﬁ,%-ﬂ’ié&x’%y‘;‘;%;jﬁ%ﬁ_
%?ﬂ%’wﬁggfg%
F2LBENA (L2 )2
AR ELIERLY AR
Tl A g T o A
= \;nwﬁéﬁig’p%ﬁ—%t?}%
¥ @
B Fr3 o F3E A ﬁﬁa o
RS g 2 R R
#F o oo

v~ fFRIRITR F RSS2
%%g,%w;gﬁ %5
/”\4‘?3‘4‘1{}& @ ks TR
0B W) 2 5o i i T
HFR TG APM KT
ﬁim]lf? 11%5]!%]‘{/‘?0
IRRERTGREE EFAL
oo WARFGER ALY o 1
FRAF 3R L B R 2 2 AR T
20

(Fp) 5§ e 04-iAZ 3P -3,/9



1% 94.9.27
2 %= 108.04.10

EPRAEGRHLY&FRICGERE TERERD

i x| 0F

e 7 . e
AR i | # i * P

(+

a\

3.2, E |ERFER ERFEFrK:

s - BERERIL? AL
R R TR B4R
R BB FEAR A
LERFRES EHEF
FoE B g B AT SR
EAEFEFRE -

S PR HCGEA A
108 ¥R FOGETEN -

2oz R &R W

S
—X
=S

o

R ADERERLF A
T AL IEHEF AR
BBz fiokEih
bl A2 REFR
b s o

Z PP AR -

Ao~ dp TP R E O 0 A
WELE AR T
A RE iy Z R TR
ok e BR R

- S BFERNTFTES S BHZ
PR E > NEERLR
Bk kTR B TR
B e

A s 5{;‘?‘*]‘%]3\ f’*i’ﬁ (J’ﬁ) /gﬂ;i

T

(Fp) 5§ e 043 AZ 3P —4,/9



1% 94.9.27
2 %= 108.04.10

EPRAEGRHLY&FRICGERE TERERD

PE SN TES TR

wE[ w7 » e
b B in iz |u | g e My i
3.3 WEHRH |FRE RS PR R B | 2
}"i;':

o~ e b2 p R AL
FreEMipsRE R o

B~ Jed i REIE o

o M 2 RS B

B AR S MUERE P gt E
]}/{%‘ Eﬁﬁ_}#%:}{ﬂ TANINIC]

(Fp) 5§ e 04-i5AZ 3P -5,/9



13 94.9.27

2 %= 108.04.10

R | R

L

ol

T

/4

]L,_jjvg/v “?%;5}‘ »\x%

¥ &

LR Gm b2 R

® . sy vz
% 'Q';J”ikfbfi:‘ °

EffEFm

Jui

I=q

~

T sk ¥R #F &

X2

FoE= 2 BEG R L
N ]\t =

Z_ B §© °

‘1\ ‘\Eﬁ%){&ﬂ{ﬁh#%%

%

,\ 4L —

CEA
Fok ki
5 {$3% o
% B OPEL B LRI B
R E o

N
ﬂ%ﬁ

e

LT T
B2 &4

IEp A

(Fp) 5§ e 04— AZ 3P —6,/9




3R L%

1% 94.9.27
2 %= 108.04.10

FRECEIRE (€ E AR

-_—
o

R

—_
N

= = P

Pl
=1

i
F#

%ﬁmﬁ

fr%ﬁrg T F R WG AP X
3 o A

ol
>

S

AT E

¥ 1

Fule

=
/
—_\\

\\\?Er

/4

S
e
R

CEFFEFRG oL
EoteG AR L R“iﬁ%
“&la}}}%%)ﬁi%‘ 4 ko ik
WAR AR L il 3R o

éﬁ%l’r}kﬁl}%/‘\%iA’!

B G A

ﬁiifé’;%ll%‘rﬁ]‘{/éf;ﬁ

LL2 @D -

LHE N BRETR

Foodridfa f%]?&ﬁ%l\-"}iif’é

0 R i -
U B o2_FEEs N AR A BY

Jzﬁﬁigﬁ‘@

(Fp) 5§ e 04—iAZ 3P =7 ,/9

3 \‘“‘k

ER A

g e




grpcE

13 94.9.27
2 %= 108.04.10

f

3
[

13

" ¥
it %

3

Tl

]f’

s }Fi‘g‘ %‘ ? & FEFEFTERIRP

a\
bRy

=
-%_l\

2% B
% K o

1
¥
Fok
A

«‘!;,_FR}%A

(ERRAEREE

T. w 3R

4£ 2L
A WU B

W2 S ERKTE P [E2
Fluieh §op bl =i
3R AR AR o

\ﬁﬂrkﬁ%%%iﬁ%
EF R IGERILEA RS
o, UMERELE 2 T @ GE
2 A8 -

—_\\
L

e 3 E

-
5 TvE

.

#

FokdpdLd

w2k

A B LE LB

FoHTRG LI RFR

W
HEUELRELAR
A AR HE AL AR
GESSC S

(=PI

25 0 i ERH 1 SR B
B VAL SE g 4 B
S AR PR LR B
AREAR - RS E

24 &fEd g

=

(Fp) 5§ e 04— A2 357 -89




